
Rosie

Opbouw met  2 personen
Montage par 2 personnes
Assembling by 2 persons

Gebruik deze handleiding van begin tot einde voor
het probleemloos monteren van uw aangekocht
meubel aub.

Veuillez bien suivre nos instructions ci-après lors
du montage de votre meuble. Merci.

Please use the manual from the beginning until the
end to assemble your newly bought furniture
without troubles.

AIc_Rosie_ BHV140;BHV160;BHV180_Va_1 -27

2,00'

AIcBHV140-160-180

1550-1750-1950mm

10
63

m
m

2145mm

1

2

3

4

4

5

5

6

7
8

9



+ -

Entretien: utilisez un chiffon légèrement humide et sèchez aussitôt. Toute trace de liquide dois être enlevé immédiatement. Meuble
inadapté aux pièces humides. N' utilisez jamais du solvant, détergent, diluant, produits chimiques ou cirage. Notice du montage à
conserver. Pour tous service apres-vente, rendezvous au magasin avec cette notice.

Maintenance: clean with slightly wet moistened cloth, wipe dry immediately. Wipe off wetness at once. Not suited for humid locations.
Never use solvent, cleaner, thinner, chemical products or wax. Retain manual instruction.
For the after sales, go back to the shop with this assembly instruction.

Onderhoud: met licht vochtige doek reinigen hierna direct droog wrijven. Vocht op het bovenblad direct opnemen. De meubels zijn niet
voor vochtige ruimten bestemd.  Gebruik nooit oplosmiddel, reinigingsmiddel, verdunner, chemische producten of boenwas. Montage
tekening opbergen. Voor service na verkoop, ga naar uw leverancier met deze montage handleiding.

FR

GB

NL

SOLVANT
DILUANT

OPLOSMIDDEL
THINNER

L J

X““““
Made in Belgium

1 2 3 4 5 6 7 8 90

AIc_Rosie_ BHV140;BHV160;BHV180_Va_2 -27

26x

A

8x30

AAA

3x

AAB

18x

B

18x

2x

BM

40x40x15

BB

2x 8x

BD

10x40

BAL

4x

BAM

4x

16x

3,5x16

I

2x

IR1

PA

7x

YX

4x16

26x 4x

ZBo

2x

M6x70

ZK

FG

4x

M6x17

2x

M6x80

ZK



AIc_Rosie_ BHV140;BHV160;BHV180_Va_3 -27

1

2

2
A

A

A

IR1

AAB

AAB PA

PA

PA

A

AAB

A

1

DETAIL 1

AAB

A

PA

3x2x

IR1

50 = =
50

PA PA PA

3

A

A

A
AAB

AAB

A

A

AAB

A

AAB

A

A

AAB

DETAIL 1

AAB

8x10x

A

8x30

A

A

AAB AAB

1

AAB

AAB

4x6x

A

8x30

IR1



AIc_Rosie_ BHV140;BHV160;BHV180_Va_4 -27

3

4

5

B

B
B

B

�

J L

X�B

B

2X

B

8x

3

2

3

2

Effen
Égale
Equal

Effen
Égale
Equal



AIc_Rosie_ BHV140;BHV160;BHV180_Va_5 -27

5

6

5

5

2

3

350 350// //

AAA

3x

YX

4x16

18x

YX

AAA

AAA AAA AAA

YX

AAA
AAA

AAA

YX
YX



AIc_Rosie_ BHV140;BHV160;BHV180_Va_6 -27

7

8

1

DETAIL 1

A

A

2x

A

8x30
�

J L

X�B

B

B

B

B

B

6

B

4x



AIc_Rosie_ BHV140;BHV160;BHV180_Va_7 -27

9

10

6

1

DETAIL 1

YX
YX

YX

YX

BM

YX

4x16

8x

180°

2x

BM

40x40x15



AIc_Rosie_ BHV140;BHV160;BHV180_Va_8 -27

11

12

1

A

A
A

AAB

AAB

1

DETAIL 1

A

A

AAB

AAB

4x6x

A

8x30

A

AAB

180°

2x

M6x70

ZK ZK

 ZK



AIc_Rosie_ BHV140;BHV160;BHV180_Va_9 -27

13

14

�

J L

X�B

B

B

B

B

PA
8

PA

2x

B

6x

DETAIL 1

PA

AAB

A

9

A

AAB

PA

2x

AAB

2x2x

A

8x30

PA

1

PA

B
B

B

7

PA

PA

470 470



AIc_Rosie_ BHV140;BHV160;BHV180_Va_10-27

15

16
7

8

7

 BB

BB

2x

 BB

 ZK

 ZK

1

DETAIL 1

2x

M6x80

ZK



AIc_Rosie_ BHV140;BHV160;BHV180_Va_11-27

17

18

9

1

7



AIc_Rosie_ BHV140;BHV160;BHV180_Va_12-27

19

20

4

1

DETAIL 1

8x

BD

10x40

2X

8

BD

BD

BD

BD



AIc_Rosie_ BHV140;BHV160;BHV180_Va_13-27

21

22

4

4x

ZBo

2X

4

1

DETAIL 1

ZBo

ZBo

!!!



AIc_Rosie_ BHV140;BHV160;BHV180_Va_14-27

23

24

4

DETAIL 1

1

 FG FG

1x

M6x17

1 2 3



AIc_Rosie_ BHV140;BHV160;BHV180_Va_15-27

25

26

1

DETAIL 1

1

DETAIL 1

 FG FG

1x

M6x17

1 2 3



AIc_Rosie_ BHV140;BHV160;BHV180_Va_16-27

27

28

1
DETAIL 1

BAL

I

I

I

I

BAL

2x 8x

3,5x16

I

1

DETAIL 1

1

2 3

FG

2x

M6x17

2X



AIc_Rosie_ BHV140;BHV160;BHV180_Va_17-27

29

30

BAM

2x

1

DETAIL 1

BAM

1
DETAIL 1

BAL

2x 8x

3,5x16

I

BAL

I

I

I

I



AIc_Rosie_ BHV140;BHV160;BHV180_Va_18-27

31

32

1

DETAIL 1

BAM

BAM

2x



AIc_Rosie_ BHV140;BHV160;BHV180_Va_19-27

Indien u het supplement bedverlichting gekocht heeft, volg resterende
stappen van de montagehandleiding aub.

Si vous avez acheté l’éclairage de lit en supplément, 
veuillez suivre les étapes restantes du manuel d'installation.

If you have purchased the bed lighting supplement, 
please follow the remaining steps of the installation manual.

VJ1

2x 6x

4x20

VJ2 VJ3

2x

1x

KG3

In doos verlichting
In box with lights
Dans la boîte d'éclairage



AIc_Rosie_ BHV140;BHV160;BHV180_Va_20-27

33

10mm
Houtboor
Mêche à bois
Woodril

65 65O 10 Through O 10 Through

100 100



AIc_Rosie_ BHV140;BHV160;BHV180_Va_21-27

34

35

1

DETAIL 1

1

DETAIL 1

VJ2

VJ1

VJ1

1x

3x

4x20

VJ2



AIc_Rosie_ BHV140;BHV160;BHV180_Va_22-27

36

37

1

DETAIL 1

1

DETAIL 1

VJ2

VJ1

1x

3x

4x20

VJ2

VJ1



AIc_Rosie_ BHV140;BHV160;BHV180_Va_23-27

38

39

1

DETAIL 1

1

DETAIL 1

Klik!

2X

VJ3

VJ3

2x

1x

KG3



AIc_Rosie_ BHV140;BHV160;BHV180_Va_24-27

40

41

1

DETAIL 1

TOUCH ON/OFF



O
nd

er
ho

ud
 -

 E
nt

re
tie

n 
- 

M
ai

nt
en

an
ce

O
p

lo
sm

id
d

e
l

R
e

in
ig

in
g

d
m

id
d

e
l

V
e

rd
u

n
n

e
r

C
h

e
m

is
ch

e
 p

ro
d

u
ct

e
n

B
o

e
n

w
a

s

S
o

lv
a

n
t

D
e

te
rg

e
n

t

D
il

u
a

n
t

P
ro

d
u

it
s 

ch
im

iq
u

e
s

C
ir

a
g

e

S
o

lv
e

n
t

C
le

a
n

e
r

T
h

in
n

e
r

C
h

e
m

ic
a

l 
p

ro
d

u
ct

s

W
a

x

F
R

G
B

N
L

N
L

F
R

G
B

N

A
lg

e
m

e
n

e
 I
n

fo
rm

a
ti

e
 :

 V
oo

r 
ta

fe
ls

 g
el

dt
 g

ee
n 

he
te

 p
an

ne
n,

 th
ee

gl
az

en
 e

n 
w

ax
in

el
ic

ht
je

s 
op

 d
e 

on
de

rg
ro

nd
pl

aa
ts

en
. G

eb
ru

ik
 h

ie
rv

oo
r 

al
tij

d 
ee

n 
on

de
rz

et
te

r.
 H

et
 m

eu
be

l l
ee

gm
ak

en
 e

n 
ni

et
 v

er
sl

ep
en

 o
p 

de
 v

lo
er

 b
ij

ev
en

tu
el

e 
ve

rp
la

at
si

ng
.

O
n

d
e
rh

o
u

d
: 

M
et

 li
ch

t v
oc

ht
ig

e 
do

ek
 r

ei
ni

ge
n 

en
 h

ie
rn

a 
di

re
ct

 d
ro

og
 w

rij
ve

n.
 V

oc
ht

 o
p 

he
t b

ov
en

bl
ad

 d
ire

ct
op

ne
m

en
. D

e 
m

eu
be

ls
 z

ijn
 n

ie
t v

oo
r 

vo
ch

tig
e 

ru
im

te
n 

be
st

em
d.

  G
eb

ru
ik

 n
oo

it 
ee

n 
sc

hu
ur

sp
on

s,
sc

hu
ur

m
id

de
l, 

am
on

ia
k,

 o
pl

os
m

id
de

l, 
re

in
ig

in
gs

m
id

de
l, 

ve
rd

un
ne

r,
 c

he
m

is
ch

e 
pr

od
uc

te
n,

 b
oe

nw
as

 o
f

pr
od

uc
te

n 
zo

al
s 

P
le

dg
e-

w
as

 o
f d

er
ge

lij
ke

. M
on

ta
ge

 te
ke

ni
ng

 o
pb

er
ge

n.
S

e
rv

ic
e
 n

a
 v

e
rk

o
o

p
: 

V
oo

r 
se

rv
ic

e 
na

 v
er

ko
op

, g
a 

na
ar

 u
w

 le
ve

ra
nc

ie
r 

m
et

 d
ez

e 
m

on
ta

ge
 te

ke
ni

ng
.

G
a
ra

n
ti

e
: 

H
et

 n
ie

t n
al

ev
en

 v
an

 d
ez

e 
on

de
rh

ou
ds

vo
or

sc
hr

ift
en

 d
oe

t d
e 

ga
ra

nt
ie

 m
et

 o
nm

id
de

lli
jk

e 
in

ga
ng

ve
rlo

re
n 

ga
an

.

L
'i
n

fo
rm

a
ti

o
n

 g
é
n

é
ra

le
:

N
e 

m
et

te
z 

ja
m

ai
s 

de
s 

ca
ss

er
ol

es
 c

ha
ud

es
, d

es
 v

er
re

s 
à 

th
é 

su
r 

la
 s

ur
fa

ce
 d

es
 ta

bl
es

.
V

eu
ill

ez
 u

til
is

er
 d

es
 s

ou
s 

ve
rr

es
. V

id
ez

 le
 m

eu
bl

e 
av

an
t t

ou
t d

ép
la

ce
m

en
t. 

P
or

te
z 

le
 m

eu
bl

e 
et

 n
on

 p
as

 le
po

us
se

r 
su

r 
le

 s
ol

!
E

n
tr

e
ti

e
n

: 
U

til
is

ez
 u

n 
ch

iff
on

 lé
gè

re
m

en
t h

um
id

e 
et

 s
èc

he
z 

au
ss

itô
t. 

T
ou

te
 tr

ac
e 

de
 li

qu
id

e 
do

it 
êt

re
 e

nl
ev

é
im

m
éd

ia
te

m
en

t.
Le

s 
m

eu
bl

es
 n

e 
so

nt
 p

as
 a

da
pt

és
 a

ux
 p

iè
ce

s 
hu

m
id

es
. N

'u
til

is
ez

 ja
m

ai
s 

de
s 

ép
on

ge
s 

ab
ra

si
ve

s,
 a

m
on

ia
c,

so
lv

an
t, 

dé
te

rg
en

t, 
di

lu
an

t, 
pr

od
ui

ts
 c

hi
m

iq
ue

s,
 c

ira
ge

, d
es

 p
ro

du
its

 d
'e

nt
re

tie
n 

co
m

m
e 

P
le

dg
e 

et
c.

.. 
. N

ot
ic

e 
de

m
on

ta
ge

 à
 c

on
se

rv
er

.
S

e
rv

ic
e
 a

p
rè

s
-v

e
n

te
 :

P
ou

r 
to

ut
 s

er
vi

ce
 a

pr
ès

-v
en

te
, r

en
de

z 
vo

us
 a

u 
m

ag
as

in
 a

ve
c 

ce
tte

 n
ot

ic
e.

G
a
ra

n
ti

e
: 

N
ou

s 
vo

us
 in

fo
rm

on
s 

qu
i'e

n 
ca

s 
de

 n
on

 r
es

pe
ct

 a
ux

 p
re

sc
rip

tio
ns

 s
us

 -
 m

en
tio

nn
és

 q
ue

 la
 g

ar
an

tie
ex

pi
re

 im
m

éd
ia

te
m

en
t.

G
e
n

e
ra

l 
in

fo
rm

a
ti

o
n

 :
  N

ev
er

 p
ut

 h
ot

 it
em

s 
on

 th
e 

ta
bl

e 
to

ps
!

E
m

pt
y 

fu
rn

itu
re

 b
ef

or
e 

m
ov

in
g 

it 
an

d 
do

 n
ot

 d
ra

g 
th

e 
fu

rn
itu

re
 o

ve
r 

th
e 

flo
or

.
M

a
in

te
n

a
n

c
e
 :

 C
le

an
 w

ith
 s

lig
ht

ly
 w

et
 m

oi
st

en
ed

 c
lo

th
, w

ip
e 

dr
y 

im
m

ed
ia

te
ly

. W
ip

e 
of

f w
et

ne
ss

 a
t o

nc
e.

N
ot

 s
ui

te
d 

fo
r 

hu
m

id
 lo

ca
tio

ns
. N

ev
er

 u
se

 s
ol

ve
nt

, c
le

an
er

, t
hi

nn
er

, c
he

m
ic

al
 p

ro
du

ct
s 

or
 w

ax
. R

et
ai

n 
m

an
ua

l
in

st
ru

ct
io

n.
F

o
r 

th
e
 a

ft
e
r 

s
a
le

s
 :

 F
or

 th
e 

af
te

r 
sa

le
s,

 g
o 

ba
ck

 to
 th

e 
sh

op
 w

ith
 th

is
 a

ss
em

bl
y 

in
st

ru
ct

io
n.

G
u

a
ra

n
te

e
 :

 A
tte

nt
io

n 
in

 c
as

e 
of

 n
on

 r
es

pe
ct

 to
 th

e 
ab

ov
e 

pr
es

cr
ip

tio
ns

 th
e 

w
ar

ra
nt

y 
ex

pi
re

s 
im

m
ed

ia
te

ly
.

AIc_Rosie_ BHV140;BHV160;BHV180_Va_25-27



Dienst na verkoop
Beste klant,

Wij danken u voor de aankoop van dit meubel. Ondanks de zorg die wij besteden aan de productie en verpakking

van onze meubelen, kan het voorkomen dat er iets ontbreekt of beschadigd is.

Is dit het geval vragen wij u om via bijgaand formulier uw DNV te melden aan de winkel waar u uw

meubel heeft aangekocht.

Volg volgende onderstaande stappen in geval van schade:

Een foto van het complete meubel (onderdeel)

Een detailfoto van het probleem

Op die manier kunnen wij u zo vlug mogelijk helpen om uw probleem op te lossen.

Met vriendelijke groeten,

1.

2.

Service après vente
Cher client,

Nous vous remercions pour l'achat de ce meuble. Malgré tout les soins que nous consacrons à la production et le

conditionnement de nos meubles, il est possible que quelque chose est manqu ou endommagé.

Si c'est le cas, nous vous demandons d'utiliser le formulaire ci-joint pour déclarer votre plainte au magasin où vous avez

acheté vos meubles.

En cas de dommages, nous vous demandons également de prendre les photos suivants et de

nous les envoyer:

Une photo du mobilier complet (partie)

Une photo de détail du problème

De cette façon, nous pouvons vous aider le plus vite possible afin de résoudre votre problème.

Sincèrement,

1.

2.

Service after sale
Dear customer,

Thank you for purchasing this piece of furniture. Despite the care we take in the production and packaging

of our furniture, it is possible that something is missing or damaged.

If this is the case, we ask you to use the enclosed form to report your SAS to the store where you purchased your furniture.

Follow the steps below in case of damage:

A photo of the complete furniture (part)

A detailed photo of the problem

In this way we can help you solve your problem as quickly as possible.

With best regards,

1.

2.

AIc_Rosie_ BHV140;BHV160;BHV180_Va_26-27



Formulier DNV - Formulaire SAV - Form SAS

Terug te sturen naar uw winkel / A renvoyer à votre magasin

/ Send back to the shop

Datum / Date :

Uw gegevens / Vos donnees / Your data
Naam / Nom / Name :

Adres / Adresse / Address :

E-mail :

Datum aankoop / Date d'achat / Date of purchase :

Naam model en meubelonderdeel :

Nom modèle et partie du meuble:

Name model and piece of furniture:

Tel. / GSM / Mobile :

Onderdeelnr. of colli nr. (zie montageplan) :

N° de pièce ou coli (voir le plan de montage):

Number piece or coli number (view assemble plan):

Kleur of stof / Couleur ou tissu / Color or cloth:

Digitale foto's in bijlage / Photos digitales en annexe / Digital photes attached: YES/ NO

Gegevens over het probleem / Donnees sur le problème / Information about the problem

Gedetailleerde omschrijving van het probleem:

Description détaillée du problème:

Detailed description of the problem:

AIc_Rosie_ BHV140;BHV160;BHV180_Va_27-27


